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Qusstions 1 to 10 cary 1 mark each. Questions i1 lo 15 carmy 2 marks each. For each
question, four options are givan, One of them Is the correct answer, Make your choice
{1.2, 3 or 4), Shade the oval (1, 2, 3 or 4) on the Optical Answar Shaat, All diagrams

are not drawn to scale, (20 marks)
1. The number of vistiors who at an amusemesnt park was 30 000 when rounded
to the nearest hundred. Which of the following was a possible number of
visitors?
(1} 29949
(2) 29963
(3) 30053
(4 30097
2
2. Express 65 as a declmal.
(1) 6.04
(2) 6.20
{3) 625
(4) 6.40
3. PUQ, SUR and TU are straight lines.

Which of the following statements Is true?

() Za=<d
@) <b=<e

(3) La+b=sd
(4) b+ Lo=Le

2 {Go on to the next page)



Which two lines are parallel to each other?

A
LK
{1) ABandED
{2) BCandCD
(3) AEandCD
(44 EPandDC

Which of the following numbers is the smallest?

(1)
)
&
(4

0.780
0.087
0.708

0.807

{Go on to the next page)



A group of children was asked to choose an ice-cream flavour, The children’s
cholces were represented In a table and a bar graph below.

lce-cream Chocolate Vanilla Strawberry Cocontit
flavour

Number of 20 60 40 20
children

Which of the following bar graphs represents the children’s choices as shiown
in the fable abova?

(1
Number of [
children l l_
Chocolate  Vanilla  Strawberry Coconut
@
Number of '
children l
Chocolate  Vanilla Strawberry Coconut
)
Number of
children .
Chocolate  Vanilla Strawbemy Coconut
{4}

Number of
children l
. .

Chocofate  Vanilla  Strawberry Coconut

4 {Go on lo the next page)



Ench figure Is made up of 3 identical squaras and 2 Identleal triangles.
Which of the following figures hes a line of symmatry?

(1)

(2)

)

(4)

Express 8n — 1 — 5n + 6 In the simplest form.

(1) 3n-7
(2) 3nt+o
3) 13n-7
(4) 13n+5

5 (Go on to the next pags)



8. A rostaurant opens evary day for the ime shown In the table below.
For how Jong 1s the restaurant open aach day?

(1)
)
{3)
{4)

Opening hours
11.30 a.m. 10 3.00 p.m.

5.30 p.m. {0 9.30 pm.

6 h 30 min
7h30min
8h30min
h 30 min

1. In the figure, ABCD Is a square. ZFEC = 63 and LAFD = 43",

Find ZAFE,
A B
E
&ﬂ
43‘P
D E G
(1) 70°
@ 74*
{3) 108°
4 110"

T e —

6 {Go on to the next page)



11.

Arrange these masses from the lightes! to the heaviest.

2305kg  25ks  2kgdbg
Lightest Heaviest
(1) 2kg3s5g 2.305 kg 2% kg
(2) 2305kg, 2kg 359 22 kg
(3) 2% ka 2,305 kg 2kg354a
(4) 2.308kg 2':5é kg 2kgd54g
12. The price of a tennis rackef was $40. Sam bought one such tennis racket
and had to pay 7% GST on the price. How much did he pay for the tennls
racket?
(1Y %280
(2 $37.20
{3) $42380
(4) $47.00
13. The chairs in a hall were arranged in rows. Each row had the same numbe-

of chairs, Erfc sat on dne of the chairs. There were 3 chairs to his right and 8
chairs to his left. There were 4 rows of chairs in front of him and 8 rows of
chalrs behind him, How many chairs were there altogether in the hall?

(1)
(@)
3
(4)

25
60
143
168

7 (Go on to the next pags)



14. The figure below shows a quarter circle of radius 10 cm.
WhatIs the, area of the figure? Leave your answer In terms of .
10cm
(1) Sxcm?
{2y 25rom?
(3) (5m+20)cm?
4y (100x +20)om?
15. Richard had two bags containing the same number of marbles, There was a

mixture of biue and red marbles in each bag. The ratio of the number of bjue
to red marbles was 2 2 7 in the first bag and 1 : 3 in the second bag, What
fraclion of the total number of marbles wereblue marbles?

(1)
(2)
3

{4)

END OF BOOKLET A
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Questions 16 fo 20 carry 1 mark each, Writs your answers in the spaces | Do nolvake
provided. For questions which require uniis, give your answers In the units | Inthis space
slated. Al} diagrams are not drawn {o scale, {& marks)

186, Exprass 10 043 em in metras,

17. Write down all the commeon factors of 12 and 18.

Ans:

18. Henry spent $8 on 16 apples. The cost of each apple was the same.
How much did 1 such appla cost?

Ans: §

2 (Go on fo the next page)



19.

What Is the value of 75— (28 + 4 + 3} + 157

Ans:

Do nol write
in this space '

20,

in the square grid below, Janlce was at one of the landmarks facing the
market. When .she tumad 135° antl-clockwise, she faced the school,
Which landmark was Janlce at before she tuined to face the school?

Park

Sch

ool

C%e

Li%ry

Hodpital

Maiket
..

Ans:

Total marks for quastions 16 to 20

{Go on to the next page)



Questions 21 to 30 cany 2 marks each. Show Your working clearly and write | Do notwrite
your answers in the spaces provided. For questions whioh requirs units, give | I tis space
your answars in the units stated. Ali diagrams are not drawn to sezle.

(20 marks}

2. Exprass % as a decimal.
Glve your answer correct {o 1 decimal place,

Ans:

22,  Juns uses the recipe below to make some tarts.

Tart Recipe
{makes 5 pleces)

Flour: 250g
Butter: 150g
Sugar: 80g

She has 760 g of flour, 3560 g of butter and 130 g of sugar,
What Is the greatest number of pieces of tarts she can make?

Ans: i

4 {Go on to the next page)



23.  Usealithe diglis 7,0, 5 8o form . i?ﬁtﬂ:tsm%

(a) the smallest multiple of §
{b) the number closast lo 8000

Ans: (a)
{b)

24, ABCD is a parallalogram, ZABE = 15° and ZBCD =104°.FEisa point
on line AD, Find ZAEB.

A B

Ans: °

& {Go on to the next page)



25.

The solld is marde up of 7 umit cubas, Da nol write

Draw the top view and side view of the selid on the square grid below.

in this space

Top View

-

Side View
s e s e s e s
e e v & a2 » @
e s e e w4
» . . . » » .
- Ld - L -» . L]
. « s e v .
Side View

& {Go on to the next pags)



Do notwrile

26.  Kumartravelled 8 km in a taxi from home to the shopping centre,

His taxl fare was based on the charges shown below, Inhis space
Firstkm __ ‘ $3.20
Every additionaj 600 mor $0.30
part thereof

How much was his texi fare?

Ans: §
27.

in the number lins below, A represenis % and C reprasents % .
B is the mid-point between A and C. What fraction is represented by B?

B
&

= g

i~ PO

Ans:

{Go on lo the next page)



28. BCD is a rectangle. G, E and F lie on the sldes of the rectangle. The | Do notwite
gng[h of CD s thrice the langth of EF. The area of the shaded triangle | i1 s space

FGE is 16 om? What is the area of reclangle ABCD?

A

G

B

Ans: om? l

29.  The following figure is made of 16 squares. 9 squares are shaded in the
figure, Shade 2 squares to form a symmetric figure with AB as the line

of symmetry.

{Go on to the next page)



30. In the square grid below,triangie ABC has been drawn.

(a) Measure and write down the size of ZABC.

(b) Draw a parallelogram in the square grid such that It has the same
perimeter as triangle ABC. The paralielogram must not overlap

with triangle ABC.
A
™,
\\
N
N
c B
- Ans: (a) °

B
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Questlons 1 fo 5 catry 2 marks each, Show your working clearly In the space | Do Aot wite
below each question and wiits your answers in the Spaces provided. For | In s space
questions which requlre units, give your answers in the units statad, All dlagrams
are nat drawn fo seale, ' {10 merks)

1. The sum of 4 numbers Is 660, One of the numbers Is 120,
What is the average of the other 3 numbers?

Ans:

2. Jenny pald $209 for & dress and 2 shirks. the price of a shittls < of a
dress. How much did Jenny pay for the dress?

Ans: §

2 {Go on to the next pags)



Cglin and Jake ran In a marathon. Jake completed the marathon 20
minutes earlier than Colin. The total amount of time taken by both of
them 1o complete the marathon was 110 minutes, How much time did
Colin take lo complete the marathon?

Ans: min

In the figure below, ABC Is an equilaters! trlangle and DEFC s a
rectangie. £ACF = 243°. Find ZDCB.

A B
E
C F
243°
Ans; °

0 not write
in thls space

3 {Go on to the next page)



Andy and Belly ware given some colns each. Andy was given 5 more
colns than Batty. Andy was given iwenty-cent colns and Betly was given | 1t

fifty-cent coins.,

Each statement below is either trus, false, or not possible to tell from the

Informallon given. For each statement, put a tick () In the correct
column, _
Not
Statement True False | possible
fo {ell
(@} |7The amount of monay glven to
Andy was more than the
amount &f money given fo
Betty,
(b) | The difference Ins the amount
of money batwesn Andy and
Betly remained the same after
they lost & coin gach.
4 {Go on to the next page)

Do notwrite
thig spacs




For questions 6 to 17, show your working clearly in the space provided for each
question and write your answars in the spaces provided. The number of marks
available Is shown in brackets [ ]al the end of each question or part-quastion.

(45 marks)
8. The bar graph balow shows the number of frulls sold at a stall on
Monday.
200 1—— . pms
180 e —
180 : E
140 "
Number 120 =
of fruits e
old 100 ==
. =1 [1]
Apple QCrange Mango Pear

Fruits

(a) The tatal number of fruits sold on Monday was 380.
Draw the bar that shows the number of pears soid on Monday.

{b) On Tuesday, the number of apples sold was 108. What was the
percentage Increase in the number of apples sokl on Tuesday?

Ans; (a) 2

5 {Go on to the next page)

Donotwrite
in this spacs




1.

Mary had 10y. She bought some toys at $15 each and had $40 left,
(s} Howmany loys did Mary buy? Glve your anawer in terms of .
(b)  Ify =28, find the number of toys Mary bought.

Ans: {n) K3
{b) 3

Do nolwille
[ this space

8 {Go on to the next page)




0 not wrile

Mrs Ho bought —g'm of string to make some bows. She used *112- m of { inthis space

string to make each bow.
{8) How many such bows can she make at most?

(b) What was the length of the string left? Give your answer in the
simplest form.

Ang: (a) ¥}

{b) 2]

7 {Go on to the next page)



MrTan had green pens and black pans for sale. He had 275 more black | Do notwrlle
pens than green pens. He sold 70% of the green pens and 20% of the | 1 this space
black pens, The number of grean pens and black pens sold was the| -
same. How many black pens did he have at first? -

Ans: I3]

B (Go on fo the next page)




10,

At a concer, the ratlo of the number of adults to the number of children
was 5 : 8 at frst, Ater 5 of the number of dults and 252 children lefl,

thrice as many children as adults remalned at the cancerl. How many
people were there at the concert at first?

Ans: [3

Do not write
In Ihis apace

a {Go on io the next page)




1.

At a bakery, buns are anly sold In packets of 5 and muffing are onfy sold
in packets of 2, The prices are shown balow,

BB
OB 4 4

§ buns for 34 2 muffins for $3

Michae! spent the same amoint of money on some buns and some
muffins. He bought 56 more buns than muffins. How much did he spand
on the buns ard the muffing In ali?

Ans! [4}

10 {Go on to the next page)

Da not wike
in this space




12

In the figure bslow, ABCD is a rhombus and ABEF Is a frapezium. G Is

a pointoniine AD. ZGDE = 144°,

(@ Find £ BCD.

{b) Find £ EFG.

Ans: (a) {2}
(b} {21

11

{Go on io the next page)

Do notwie
in this space




13,  Tank A measures 80 cm long, 24 cm wids and 60 cm high. Itis fllfed'with | Do notwilta
I Ihis space

waler to the bim, ~ 3 of the waier In Tank A Is poured infe an empty Tank
B, Tank B has a square base of edge 20 cm. -

{a) Whatis the volume of water left In Tank A aﬁer% of its waleris
poured into Tank B?

(b} ;N;lat Is the helght of the watar lave! in Tank B after water Is poured
n

!
L)
Gl ..5}1'-. !
%

]
L
i
| 4
¥
1
]
- 1
3
5

\rnn-—nw--——-w—-—-n—!—
3}
1
£

-

e
20¢cm
Tank B

Ans: (a) M
) 2

12 (Co on to the next page)



14.  Nirs Lim bought a rice cooker for $224 after a discount of 20%. Do not wiite
In this space
(a) What was the price of the rice cooker before discount?

(b) She also bought a blender for $87.50 after discount, The total

discount for the rice cooker and the blender was $93.50. What was
the percentage discount given for the blender?

Ans: (a) ]
) Bl

13 {Go on {o the next page)



18,  The figure Is made up of shaded and unshaded squares.”
The first three figures are shown below.

‘Ei?:. Fﬂ!ﬁ!“’.z
5

Flgure 1 Figure 2- Figure 3
‘The table below shows the number of shaded and unshaded squares
used for each figure,
Flgure Number of Number of Total number of
Number unshadad shaded shaded and
squares squares unshaded sguares
1 3 8 a
2 & 1 18
3 7 ':IB 25
4 36
{1]

{a) Complete the table for Figure 4.

(b} What s the total number of shaded and unshaded squares used
for Figure 337

{c} There are 53 unshaded squares used for one of the figures,
How many shaded squares are used for that figure?

Ans;

(b} 2]
(c) 2]

14

{Go on to the next page.)

Do not wilte
in this space




18.

Li May spent %‘ of hermoney on 22 tarls and 46 cupcakes, One cupcake

cost as much as 3 tarts. She bought some more tarts with % of her

remaining monsy. She spant a total of $316. How much did she spend
on the cupcakes?

Ans: I5)

15 {Go.on ia the next page)

Do not wille
inthis apace




17

The figure below is formed by a small semlclrcle, a blg semicircle and a
reclangle. O is the centre of the small semidircle. The pedmeter of the

rectangle Is 12.8 em.

B 6 cmi . Iz.4cm

{a} Whatls the diameter of the small semicircie?
{b) Find the perimster of the shaded figure. Take x = 3.14.

Ans: (8)

(b}

[
(4]

END OF PAPER 2

Do not wilte
inhig space
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Q1 Q2 Q3 Q4 Q5 Q6 Q7 | Q8 Q9 Q10

2 4 3 1 2 3 1 2 2 4

Q11 Q12 Q13 Q14 | Q15

PAPER 1 BOOKLET B

Q16) | 10043 _
To0 = 10043 m

Q17)
12 __16
1x12 1x16
2x6 2x8
3x4 4x4

Ans:1,2 4

Q18) 8 _1

16 2
= $0.50

Q19)| 75-(28+4+3)+15
=75-(7+3) +15
=75-10 + 15

=80

Pgl



3.90 + (14 x 0.30) = $8.10

Q20) | Hospital
@21)) 2= 0.85
7
=~ 0.9 (1 d.p.)
Q22) | 130 +50=2R 30
2x5=10
'Q23) [ (a) 5780
(b) 7850
Q24) | < AEB = 180° - 104°- 15°
=61°
Q25)
- - L:--.-_.-—-I'— - - : . y
- - - 'L.L:.-_-—-l
Top View Side View
Q26) | 8-1=7
7 ——
i 14

Pg2




Q27)| 1.7 249
4 8 B
2.7 9 1
o JRUN e e
8 B8 82
8 16
9
Ans.-l-g

Qz28) §x1uxH=1s 16 x 3 = 48
%x3ux!—!=48_ 48 x2=96

Ans=96cm?

Q29)
PAPER 2
Q1) | 660-120 =540
540
= = 180
Q2) Shirt - 3u
2 shirts -—-- 6u }1111
dress —---- Su
$209+11=9%$19
$19x5=%95

Pg3




Q30)

I \\ ey V-
S
. %;
: R A | L cap

a)34

Pg#




Q3) |110+20=130

130 .
- = 65 min

Q4) | < ACD = 360°-90° - 243°
= 27°

<DCB = 60°-27°
= 33°

Q5)

4

Q8) | 2a)380-90-60-120=110

b) increase —> 108-90=18
% increase — > g—ﬁ-x 100% = 20%

Q7) a) 10y — 40

TR number of 'tojrs bought

b) 10(25)-40 _ 250~ 40

15 15
_ 210
T 15
=14
Q8) 8 .1 142
a)9 T 12 103
1 10
8§ 10_ 1
9 12 18

Q9) 7u=2u+% x2
7u=2u-+55
5u=0>55

Pk




u=11

black pens =11x 10 + 275
= 385

A:C
Q10) 5.

8
15:24 .
§1eﬂt_+l_ 5:15 _|—> 252 left

24u-15u=9ny
252 =9u
u==28

28x39=1092

Q11) | Every $12, 15 buns bought
Every $12, 8 buns bought
15-8=7

56

7 =8

8x12x2=%192

Q12) | a) < ADB = 180° — 144°
= 36°
< BCD =< BAD = 180° — (36° x 2)
=108°

b) < FAD = 36°
< EFG = 360° — 30° — 20° — 36° — 144°
=130°

A13) | q) 22220 5 2 = 76800cm?
b) 80x234-x60 = 38400
38400

= m
20x20 96c

Peb




Q141 2)Z2x 10 = $ 280
b) 280 — 224 = 56 (discount for the rice cooker)
$93.50 - $56 = $37.50 (discount for the blender)
Percentage discount = i‘::f ::si x 100%
. 3750
= 375+a75 X 100%
= 30%
Q15) | a)
3 7
4 9 27
b) (n+2) x (n+2) = total
(35)x(35) =1225
) =2 =25 bt =2
Fig 26 used ALY - 63 = 3|
Q16) | 1 cupcake = 3y

1 tart =1y

]

n =22y + 46 (3y) = 160y

1
—n =7
14 y

_4 1__9
$315—:; n+1-;n—-ﬂn

1 —

En—$35

= n = $35x 8 = $280 = 160y

y = $1.75

Pgﬁr




cupcakes = 46(3) (1,75)
= $241.50

Q17)

a)12.8 - (2.4 x 2) = 8cm
b) perlmeter—(24x2)+[s+J__O G- L4+ 8(314)]

=45 06cm




